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1. (a) Differentiate between monetary aggregates and liquidity aggregates of the third working
group.What is the basis of this differentiation ?

(b)) Which approach is better for defining money, theoretical approach or empirical

approach ? 9,6
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(a) ?IF'TT?I m TR % Afsw ol (monetary aggregates) d Tl Wﬁr (hquldxty aggregates)
%mwwaﬁﬁﬁmwﬁﬁawwww% ?

) T A e ¥ B ghem e 3, ﬁzqrf—ﬂm TR (theoretical |
approach) a1 3@%@ §‘FQ?#I'UT (empirical approach) ?

(a) Derive deposit multiplier and complete money multiplier. What are the changes.in deposits,
currency holdings and money stock if the RBI purchases Rs'.l',O0,000 worth of

. government securities from open market when : -
(/)  Required reserve -ratio = 10%
(i) Desired excess reserve ratio = 5%
- (i) Desired eurrency to aeposif ratio = 25%
(b) What are the various determinants of money supply ? ’ .7.5,7.5
(@) ™ I[UIE (deposi.t fnultiplierj E] T’f Hsl T (complete money multiplier) &l Eﬁ'c'CF-T
ST Ife RBI 1,00,000 ¥4 1 FHRT Sl go AR A @l ¥ @ s
: (depesit), THS T (currency holdings) T Tl & Ve (mc;ney stock) # 1 qftEdy -
BT Ay T fo gom ¥ f

(i) HAEYTFH  ITRET $JIA (Required reserve ratio) = 10%
() ifsd R et AT (Desired excess reserve ratio) = 5%
(ijz) Gl AHS-SAT UG (Desired currency to deposit ratio) = 25%
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Why is asset securitization an example of market intermediation ? In what ways can

securitization reduce the cost of funds for the issuer ?

Discuss the role of margin requirements in future contracts. “Futures contracts are

leveraged instruments that can be used to control risk™. Elucidate. 8,7

REcets i Elﬁ'*ﬂ:cﬁ?{'UT (asset securitization) SR 1 HLHLGAl (market intermediation)
TR T T ? IR, T B T (issuer) 3q TN (funds) F A
I R THR FW F FEA ¥ ?

‘Fﬁﬁ 3 (future contracts) T WA aTervasaii (margin requirements) st “ﬂ'ﬁﬂﬂ
&1 fooem FI0) e sTe, SR (leveraged) SURRT ¥ Fat werar @
sifgw w1 frafsa fear 1 9@ §17" g9

Assuming the market interest rate is 9%, determine the price and yield of the

following :
(1) A Rs.10,000 treasury bill that matures in one year.
(2) A Rs.1,000 coupon bond that has a coupon rate of 10% and matures in one year.

Using demand and supply analysis illustrate the impact of the following changes on the

interest rate a firm pays for loanable funds :
(1) An increase in firm's default risk
(2) A decrease in the liquidity risk of the firm's bond

(3) An increase in inflationary expectations

(4)  An increased uncertainty about the future tax treatment of interest income. 5,1_04
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IE W BB AR F o 9% ¥, A Frefaten 9 9 (price) T wf
(yield) T4 HifWT .

(1) 10,000 ¥. 1 TF THN e (treasury bill) S F @ a9 § wRuss o
gl |

(2) 1,000 ¥ 1 T FI FIC (coupon bonds) FFH! FH T 10% ¥ Tew
St T 9N #§ uRgss wa ¥

w3 oo favde A e ¥ R G HW (oanable funds) T &
mmawﬁﬁmnﬁaﬁ%mmﬁuwﬁwz
(1) ®H F FTE-9% AT (default risk) § 5
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In the long-run, an output target is a qu1xotlc" goal for monetary pollcy but pnce level -

| target is achievable. Explain.

Differentiate between money supply and interest rate as intermediate targets of the

monetary policy. What properties should the variable have to serve as an intermediate

- target of monetary policy ? 9,6
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“Better credit risks do not subsidize poor credit risks when symmetric information exists"

Whereas "honest borrowers subsidize dishonest borrowers when information is )

asymmetric”. Explain,

What are the bank strategies for countermg problems of asymmetnc information ? 9,6

ST T e T & ?Tr Eiudeice] e a1 TN (Beter credit risks),
T g G?rﬁaq I ORI (poor credit risks) W1 ST (subsidize) & F 1"
S S g ereniE ¥ A SRR Wrélm (honest borrowers) S§HM ROt
(dishonest borrowers) I srfarfa e 1" wogmy

awﬁqa'&amﬁw@aﬁﬁﬁqaﬁﬁ%ﬁﬁﬁ—wmaﬁ% 2
How is BASEL Il an enhancement over BASE}» II '?4Discuss with reference to capital
mquirement norms.

Explain the profit/loss profiles of long call options. . 9,6

BASEL III 78 ¥R BASEL I ¥ Je ¥ ? it = HEAIFA T A
(capital requirement norms) & Ty o R

S HiA et (long call options) =} @v-7fT Tqt@n = TR |
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What is transmutation effect ?-What are the various services and economies provided

. by financial intermediaries in the mobilization of- savings ?

Do you agree with the view that the preferred habitat hypothesis combines key features

of the expectations and segmented markets hypofh‘esis ? Give reasons in suppori of your
answer. A "~ 6,9
FUR Y9G (Transmutation effect) T & ? faxiig wegwedl gra aa%ﬁ & U ﬁ
WSH @t WM Al fafie dard 9 gt (economies) F-am £ 2

= AN ™ fa?m Q ¥eaad § 5 vt wiae afeea (pfeferred habitat

hypothesis) FIM (expectations) I JUehd Eﬂ?ﬂT (segmented markets) ‘Wﬁa’»—vwaﬁ
F IS AU F TG FE ¥ ? oW IW @ wHed § wro dfwg
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